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ABSTRACT 

 

 

 

About 46 percent of American households will pay no federal individual income tax in 2011, 

roughly half of them because of structural features of the income tax that provide basic 

exemptions for subsistence level income and for dependents. The other half are nontaxable 

because tax expenditures— special provisions of the tax code that benefit selected taxpayers or 

activities—wipe out tax liabilities and, in the case of refundable credits, result in net payments 

from the government. Most important of those tax expenditures are provisions that benefit senior 

citizens and low-income working families with children. While those factors particularly affect 

lower-income households, different provisions eliminate taxes for other households. Itemized 

deductions and credits for children and education are more important for middle-income 

households, while the relatively few high-income nontaxable households benefit most from 

above-the-line and itemized deductions and reduced tax rates on capital gains and dividends. 
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Why Some Tax Units Pay No Income Tax 

 

Just 54 percent of all tax units will pay federal individual income tax in 2011, leaving about 46 

percent paying no federal income tax or receiving a net refund. The significant fraction of tax 

units that do not pay income tax has become a topic of public debate. Some commentators have 

suggested that the large share paying no income tax is mostly the result of tax expenditures 

(sometimes referred to as “loopholes” or “tax earmarks”). If that were so, nearly all tax units 

would pay income tax under a reformed income tax with no tax expenditures. In fact, however, 

even with all tax expenditures repealed, standard income tax provisions that exempt a basic 

amount of income would still leave many units nontaxable.  

 

These standard income tax provisions include personal exemptions for taxpayers and dependents 

and the standard deduction. These provisions are part of the basic progressive income tax 

structure that intend to exempt subsistence levels of income from tax and to adjust for 

differences in ability to pay based on family size. 

 

Of all nontaxable units, half would still owe no tax in 2011 if all tax expenditures were repealed 

and only these standard income tax provisions applied. The other half owes no tax because of tax 

expenditures. Those proportions vary across income categories. Virtually all nontaxable units in 

the lowest income group pay no tax because of the standard income tax provisions alone, but this 

share diminishes rapidly with income and nearly all nontaxable units with incomes above 

$30,000 pay no tax because of tax expenditures (see chart 1 and table 1). 
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To determine which tax expenditures moved tax units from being taxable to being nontaxable, 

we arranged tax expenditures into eight groups and then estimated how many units became 

nontaxable when we added each group of tax expenditures sequentially to the standard income 

tax provisions. These are the eight groups: 

 

 elderly tax benefits (the extra standard deduction for the elderly, the exclusion of a 

portion of Social Security benefits, and the credit for the elderly); 

 credits for children and the working poor (the child tax credit, the child and dependent 

care tax credit, and the earned income tax credit); 

 exclusion of other cash transfers (cash transfer benefits other than Social Security and 

unemployment, such as TANF and SSI); 

 above-the-line deductions and tax-exempt interest; 

 itemized deductions; 

 education credits; 

 other credits; and 

 reduced rates on capital gains and dividends (zero rate on gains and dividends that 

would otherwise be taxed at 10 or 15 percent, 15 percent rate combined with credits). 

 

Of the 38 million tax units made nontaxable by the addition of tax expenditures, 44 percent are 

moved off the tax rolls by elderly tax benefits and another 30 percent by credits for children and 

the working poor (see chart 2 and table 2). The other six groups of tax expenditures have much 

less impact, each making 6 percent or fewer units nontaxable. 
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Among nontaxable units that would face positive tax liability except for tax expenditures, the 

type of tax expenditure that makes them nontaxable varies substantially by income (see chart 3). 

For tax units with income below $50,000, the tax expenditures for the elderly, children, and the 

poor are most important. For tax units with income between $50,000 and $100,000, the child and 

education credits and itemized deductions move the most units off the tax rolls. For those with 

income over $100,000, the above-the-line deductions, itemized deductions, and reduced rates on 

capital gains and dividends matter most. 

 

 
 

 

The ordering of the eight groups of tax expenditures may affect the assessed importance of each 

in making units nontaxable. We therefore also examined each group’s separate impact by 

removing just its provisions while leaving all other tax expenditures in place. For all but one 

group, these one-at-a-time results differ little from the results of our sequential analysis (see 

chart 4). For example, repealing the elderly tax benefits (and no other tax expenditures) would 

make 16.3 million currently nontaxable units taxable, whereas applying the elderly tax benefits 

as the first set of tax expenditures to the standard income tax provisions makes 16.7 million tax 

units nontaxable (compare tables 2 and 3). The results differ substantially, however, for the 

group that includes the tax expenditures for above-the-line deductions and tax-exempt interest. 

This group has a much smaller individual impact than when it is added on top of other tax 

expenditures. The difference in impact indicates that typically this group taken alone does not 

make units nontaxable, but it does make units nontaxable when it interacts with other tax 

expenditures. 
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Note that the analysis here covers only the effect of tax expenditures on making units nontaxable. 

Most taxable units also benefit from tax expenditures. For higher-income units, tax expenditure 

benefits are often substantial without reducing tax liability to zero because their income tax 

liabilities under the standard income tax provisions are larger than the tax expenditure benefits. 

Taking into account all tax expenditures, benefits to high-income units are much larger (both in 

dollar value and relative to after-tax income) than the benefits received by low- and middle-

income units.
1
 

 

 

 
 

 

 

Units with Zero and Negative Income Tax Liabilities 

 

The standard income tax provisions and most tax expenditure provisions, taken alone or in 

combination, make tax units nontaxable by reducing their tax liability to zero. But three tax 

expenditures—the child tax credit, the earned income tax credit and one of the education 

credits—are refundable credits: if they exceed tax liability, the excess is paid to the tax unit and 

the unit’s tax liability is negative.  

 

                                                 
1
 See, for example, tables T11-0086 and T11-0087 (March 31, 2011) at 

http://www.taxpolicycenter.org/numbers/displayatab.cfm?Docid=2967&DocTypeID=2 and 

http://www.taxpolicycenter.org/numbers/displayatab.cfm?Docid=2968&DocTypeID=2. 

http://www.taxpolicycenter.org/numbers/displayatab.cfm?Docid=2967&DocTypeID=2
http://www.taxpolicycenter.org/numbers/displayatab.cfm?Docid=2968&DocTypeID=2
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An estimated 42 percent of the 76 million nontaxable tax units will have negative liability in 

2011 (see table 4).
2
 Nontaxable units with incomes below $20,000 or above $100,000 will more 

likely owe no tax than have negative income tax liabilities. Nontaxable units with incomes 

between $20,000 and $100,000 will be more likely to have negative income tax liabilities.
3
 

 

Repealing all tax expenditures would still leave 38 million units nontaxable. With no tax 

expenditures in place, these units would all have zero income tax liability. Because of the 

refundable credit tax expenditures, however, nearly 40 percent of those units have negative 

income tax liability. Another 38 million tax units that would owe tax if only the standard income 

tax provisions applied are made nontaxable by tax expenditure provisions. Refundable credits 

result in negative income tax liabilities for about 45 percent of those units. 

 

Some Technical Notes on the Estimates 

 

The results presented in this paper differ slightly from those shown in previous TPC analyses
4
 

for two reasons. First, the current analysis considers payment of income tax to a foreign country 

(to the extent of the foreign tax credit) to be part of the income tax (that is, the foreign tax credit 

is not considered to be a tax expenditure). Second, this analysis uses a threshold of $5 of income 

tax liability to classify a tax unit as taxable; earlier analyses used a $1 threshold. 

 

The analysis separates nontaxable units into two groups: those that are nontaxable due to 

standard income tax provisions and those that become nontaxable when tax expenditure 

provisions are added to the income tax. It uses a modified measure of the “cash income” measure 

on TPC’s model that excludes items not considered income for income tax purposes.
5
 The 

analysis then applies the standard income tax provisions, including standard rates, to that 

modified cash income to determine how many tax units would be nontaxable if only these 

standard income tax provisions applied. Although cash income is a broad income measure, it 

excludes certain fringe benefits, most importantly those for employer-provided health insurance 

and contributions to retirement accounts. Although the income tax exclusions for these fringe 

benefits are considered tax expenditures, the analysis could not account for them because the 

cash income measure already excludes them. The analysis, therefore, does not completely isolate 

the effect of the standard income tax provisions from the effect of tax expenditure provisions on 

making tax units nontaxable.

                                                 
2
 The analysis classifies any unit with income tax liability less than $5 as nontaxable, any unit with income tax 

liability between $5 and -$5 as having zero liability, and any unit with income tax liability less than -$5 as having 

negative liability. 
3
 While few tax units with income over $50,000 qualify for the earned income tax credit, many receive the child tax 

credit of up to $1,000 per child. The child credit is refundable for families with enough earned income. 
4
 See, for example, table T11-0173 (June 14, 2011) at 

http://www.taxpolicycenter.org/numbers/displayatab.cfm?Docid=3054&DocTypeID=7. 
5
 The excluded items are the employer’s share of payroll taxes and the corresponding deduction for the self-

employed, and the corporate income tax. These taxes are included in cash income in order to make it a measure of 

income before all taxes. The exclusion of these taxes from income is not considered tax expenditures. For a 

discussion of which income tax provisions are considered tax expenditures and which are not, see Office of 

Management and Budget, Analytical Perspectives, Federal Receipts, Tax Expenditures (Chapter 17), Budget of the 

United States Government, Fiscal Year 2012, February 2011. 

http://www.taxpolicycenter.org/numbers/displayatab.cfm?Docid=3054&DocTypeID=7
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